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STATE PERFORMANCE
PLAN INDICATOR 1

Presen ted By Harrisburg Project

What is Indicator 13 and who does it apply to?
*How to Add a new Indicator 13 record in |-Star
*How to Access the form

*How to complete the form

*Does the IEP meet the requirement of Indicator 137
*Indicator 13 Errors vs. Warnings in |-Star

*Reports




What is Indicator 137

* Indicator 13 measures the percentage of students who are 16 years of age and older
with an [EP

* This |[EP must include appropriate transition assessment and transition services (including
course of student) that will allow the student to meet those postsecondary goals

» The student must be invited to attend this |[EP team meeting where transition is
discussed

Who does Indicator 13 apply to?

« lllinois school code requires that a student’s IEP must contain a transition plan by the
time the student is 14 ¥ years of age

» Please note, Fund Code L,P,N and U do not require a transition plan

Adding a new Indicator 13 record...

» From the student search results grid, select the 13 next to the student that requires a
new transition plan

* Click Add

Student Cvarview

Hame: DemeoMack Wade Smith SIS 7¢: 999990013  School Yesr 2018 DOB: 1/28/2002 {16 yra 8 mes)  Ethnicity: White:
Gandari Male

Stadent Indicator 175 [ @ Add)

Mo Records Found
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How to complete the form...

» Each questions has to be answered Yes or No
» 8 questions with sub-questions below

* The answer to each questions dictates the automated answers to 8s. And 8t.

Yes - the requirement is completed No - the requirement is missing

There are measurable postsecondary goals in the areas of employment, education and / or training, and indeper
living. 34 CFR 300.320(b)

Is thers = Els 5 gosl for

wihich will eecur sfter high scheal/aging out?

1s thers = messursble postsscendary goal for aducation and/or training vhich will sczur sfter high scheol/zging out?

Is thers 2 ble p goal for ind dent living which will sccur after high school/aging cut? 105ILCS 5/14-8.03(s-5)

Does the I[EP meet the requirements of Indicator 13?

* Yes: Ifitems la. through 8r. are ALL answered Yes, then the IEP meets Indicator 13
requirements.

* Yes: Ifitems la. through 7q., 8s. And 8t. are ALL answered Yes AND 8r. is answered
No, then the IEP meets Indicator 13 requirements.

* No: If one or more items were answered No, with the exception of 8r., then the IEP
does not meet Indicator 13 requirements. (Out of compliance)




Indicator 13 Errors vs. Warnings in I-Star

* Incomplete = Error

Does the IEP meet the requirement of Indicator 13?7
Yes No Incomplete

* No = Warning (Out of compliance)

Does the IEP meet the requirement of Indicator 137
Yes No Incomplete

*Yes = No Error or Warning

Does the IEP meet the requirement of Indicator 137
Yes No Incomplete
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